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! s) EXPN?SS L}Iz'gx + 7 in the Fom\ a('}c +b)l+ s
Use your answer to find  the 3@@(%5% value of
i
r*-8x + 71

l) Expres_c, le-i-f"loc—"‘l in Hu om a ’)c-i—b) G o
wshoe o, b and ¢ need to b ideﬂkped’

-Henca Fmd the Leash va[wz of bx + 36y - 17T

3) shwe that 27— Fhx ~%51  may be expesed in bhe
Porm (T+P) -9 whee p o a constent  to be faund.

Henta solve x| e =851 = O
5 EK ess =2 +bx -1  in om  — (:mq—a) +b
)um a end b nad to be Fc}tmcf

Hence shobch  Hie ~x bx =T ,  indials
the (coiduagtes  of gLLS Séﬁ?ﬁcnﬁﬁ Poiruf @i/ﬁ

S) Express 3x—bx +5 in the fom C‘(l%-fbj)%c ,
evaluaémj a,b aend c .
Use Your ansuers to find Che j:ea@eaf value  of
|
51:2'— 6o + 11

é;) Express 3x* = 2%+ 22 in bhe fom a (eth)+ ¢
Use cw answers  to  skbch B ﬂé@p)’l = BDC?: iI2x +29
da&r{:) mcLiCa,t?L\Cj cbs shbanaﬁ 0
7) Expmss "+ 8k +§ in bhe fom @c-f—cej& +b

Ue qour answer to find the lbast vale of 3x*+24x+/5
and  “give the comespondiiq  valke of x -



